
SUPPORT COLUMN TO GABLE END COLUMN TO SIMPLE JAMB 
CONNECTION

CORNER BRACE CONNECTION SIMPLE HEADER CONNECTION CJ z SIDE BASE RAIL CONNECTION 
(INTERIOR PERSPECTIVE) 

TRUSS TOP CHORD 2· x 3" muss TOP 
CONNECTION CHORD 2" x 3" HEADER 2" x 3" SUPPORT COLUMN 2" X 3' SUPPORT-c-----ï> COLUMN SIMPSON STRONGTIE S/H3 HURRICANE TIE FASTENED W/ \41 #12-14 X 1-1/4" SDS 2" x 3" SUPPORT COLUMN SIMPSON STRONG TIE S/H3 HURRICANE TIE FNTEN W/(4) #12-14 X 1-1/4" SOS (3)#12-14x l-l/4" SDS 2" x 3" SUPPORT COLUMN SIMPSON STRONGTIE L30 ANGLE TIE FNTEN SIMPSON STRONGTIE Û-15 TIE PLATE FNTEN W/ (6) #12-14 X 1-1/4" SOS 

-3/4" X 2-3/4" X JWELDED INSERT HSS 14 GA STEEL TUBING 
W/ \41 #12-14 X 1-1/4" SOS (FL d446. l O-R4) 1/8 2" x 3' ÚE RAIL 

*l/2' X 6" TAPCONS W/2-3/4" EMBEDDMENTIS ALSO PERMITTED2" x 3" SUPPORT COLUMN 5' O" O.C. w (sP.) OPTIONAL SIDING [TYP) 1-3/4" X 2-3/4" X 6"SHOP WELDED INSERT 

2" X 3" BNE RAIL 
GABLE COLUMN TO *SEA RAIL CONNECTION 

2" ̎3' X 14 GA lSE RAIL W/ 1/2" x 5-1/2" WEDGE ANCHOR 11 ) WlTºIN l 2" OF EACH COLUMN fN FULLY CURED 3000 PSI CONC. 

NOTE: 121 #5 lR MIN 3" EMBEDMENT tbNT. [TYP) 
NEW CONCRETE/DIRECT ANCHORING � ���R�i/�Ğ� ���?6gCEMENT*l/2" X 6" TAPCONSW/ 

2" X 3" HSS STEEL JAMB "X 3' BNE RAIL 2" X 3' ÚE RAIL � 
UNIVERSAL FASTENING SCHEDULE HOROZONTAL ROOFING
PANELS ACROSS TRUSS TOP CHORD 
I¡ #12-14 X 7/8" SDS AND RUBBER WASHER 1/2 PURLIN SPACING ALONG PANEL LAP 

TRUSS TOP CHORD 5' 0" O.C. w ITYPI OR CLdSER 

FASTEN SHEATHING 9" O.C. FEILD W/ #12-14 X 1-1/4' SDS AND RUBBER WASHERS [TYP) 

#12-14 x 1-1/4" SOS AND RUBBER W HER 3"/6' /3" O.C ALONG LEADING EDGE 2-3/4" EMBEDDMENT ALTERNATIVE LOCATION MĝVIS ALSO PERMITTED BE THROUGH THE BASE RAIL 2' MIN. FROM EDGE OF CONC. 2" x 3" SUPPORT COLUMN 5' (J' O.C. Mt [TYP.)2" x3" X 14 GA lSE RAIL W/ l /2" X 5-l /2' WEIE ANCHOR11) WlTHIN 12" OF EACH COLUMNN FULLY CURED 3000 PSI CONC.1-3/4" x 2-3/4" x 6' ëDTSHOP WELDED INSE
jI
R.._T _äC,,,=º----.

6x6 REINFORCING WIRE MESH OR FIBER REINFORCMENT [TYP) (2) #5 lR MIN 3" EMBEDMENTCONT. (nP) NOTE: 

1-3/4" X 2-3/4" X 611 SHOP WELDED INSE 

FIBER MESH CONCRETE CAN BE USED AS AN ALTERNAT̀E TO ëF REINFORCEMENT NEW CONCRET7OFFSET ANCHORING

FASTEN SHEATHING w/-́ #l 2-14x 1-1/4" SDS AND RUBBER W HER 9" O.C. FIELD [nP) 

2' x 3" SUPPORT COLUMN ��-5' 0" O.C. Mt [TYP.I OR CLOSER 

(FL d456.3-R3) 2,, x 3,, HEADER 
2" X 2" 15 GA HSS STEEL TUBING CORNER BRACE 

UNIVERSAL FASTENING SCHEDULE VERTICAL
ROOFING PANELS ACROSS PURLINS 
� SIDE\P FNNERS #12-14 X 7/8"SDS 1/2 TRUSS SPEING ON-CE°ER ALONG PCEL SIDE\P FASTEN SHEATHING 9' O.C. FEILD w/ #12-14 x 1-1/4" SDS AND RUBBER WNHERS (nP) 2-l /2" X 1-1 /2' HAT CHANNELROOF PURLIN 48" O.C. (TYP)FASTEN SHEATHING W/ #12-14 X 7/8" SDS AND RUBBER W HER l /2 PURLIN SPACING ALONG PANEL LAP 2'' X 3" TRUSS TOP CHORD 5' O" O,C. Ĕ 

#12-14 x 1-1/4" SDS AND RUBBER W ER 3"/6'/3' O.C ALONG LEADING EDGE 
FASTEN SHEATHING'?' O.C. FEILDw/ #12-14 x 1-1/4' SDS AND RUBBER WASHERS (nP) 2-l /2" X 1-l /2" HAT CHANNELROOF PURLIN 48" O.C. [nP)

FIELD FASTENING PA�ERNNÜ 
'",\ ' '',\ ' '",\ ' '',\ ' '',\ ' U 6'F�U 6'U 6'E #12-14 x 1-1/4" SDS AND RUBBER WNER 3" /6"/3" O.C ALONG LEADING EDGE 2-l /2" x l -l /2" HAT CHANNELROOF PURLIN 48" O.C. [TYP)

BOXED aVE VNNECTION 
�) 

BOXED MVE CONNECTION lĪI 
� VARIE�,TO 4�2 SIMPSON STRONGTIE TP-15 TIE P�TE FASTEN w/ [6) #12-14 x 1-1/4" SDS [TYP) 

QîD bVE CONNECTION lİP) = V�IE�,TO ��2 rUSS CONNECTION (TYP.) ,_-----FROM 22'-l" - THRU 26'-0" _____ ý SIMPSON STRONGTIE TP-15 TIE PLATE FASTEN W/[6) #12-14x l-l/4"SDS 
" = �RES�,TO 4�2 TRUSS CONNECTION (nP.) ,--------FÈM 26'-l" - THRU 30-0' --------, 

zLOCIà ULTI¡TE 140 MPH 
COM¿NENTS ID CĬDDING '· o.ooro ""PREåURE fÀFl ZONE 

O¡F WALLS ' , ., -14.3 -21.5 `c.9 +14.5 -17.6 -14.3 -17.4
COMPONEd LD CĮDING rexn=B, ncri=+/-0.18 IEnclôdll SIMPSON STRONGTIE TP-15 TIE P�TE FASTEN L - UP T022-0'__j åLfIt PREåURE rPSFI 

ZONE w/ (6) #12-14 x 1-1/4" SDS ULTI^TE ROOF WBLS 
� 

FIELD PANEL FDTENERS #12-14 X 1-1/4" SJ 9" ON-CENTER ALONG FIELD TRUÎ TOP CHORJ 

2" x 3" TRUSS TOP CHORD 5' 0' O.C. Mt 

2" X 3" TRUSS TOP CHORD 5' □" O.C. w

BOXED MVE CONNECTION ll�PI BOXED EAVE CONNECTION [nP) 140 MPH , -17,6 -24,7 -38.1 + 17,7 -20.8 +17.5 -20.6
WMPONEd AND C�DING ĉn B, ncrl +/-0.55 Par̆□I� Encl SIMPSON STRONGTIE T�-1 5 TIE P�TE FNTEN W/ (6) #l 2-14x 1-1/4" SDS muss CONNECTION (TYP.) SIMPSON STRONGTIE rUSS CONNECTION W/ [6) #l 2-14x 1-1/4" SOS JI TP-15 TIE P�TE FASTEN (TYP.) ¹--------FROM 30'-l" -lHRU 36'-0'--------ÿ Ĩ< -----------FROM 36'-l" -įRU 40-0"----------ò 

muss CONFGURATIONS 
� 

zLfIt ULTI^TE 140 MPH -24,2 PREåURE PSF1 
ZONE 

ROOF WBLS , " -31.4 -45.7 +22.4 I -27.4 +24.l -27.2I ***all figures uĺed as at 1Ċ2ē18*¥ FLORI[ PRODUCT APPRºAL CpT SIMPSON STRONGTIE Ù-47 111 AT LCH SYMETRIC TRUSS fACE FNTENED w/ (8) #12-14 x 1-1/4" SDS CENTERED ABOUT JOINT PLANE 

2" X 3" ÚBE FOR LEGS SPACED 5' OC OR CLOSER [sP) 
#12 X 2' SELF DRILLING SCREW FLAT HEAD [TYP) 

[2) #12-14 X 1-1/4" SELF DRILLING-��_SCREWS (TYP) PRODUCT APPROVAL NUMBER FL 17996.5-Rl, FL 17996.6-Rl TRUSS WEBING 2" x 2" J-----ð-HSS STEEL T�BING 2-1 /2" x l -1 /2" 18 GA HAT CHANNEL þ----­ROOF PURLIN 48' O.C (w) (TYP) TRUSS TOP CHORD 3" x 2" HSS STEEL TUBING FL21450.6-R3: FL l 4425. l -R4 

DPICAL TRUSS 
CONNECTIONS 

TRUSS TOP CHORD 3" X 2' HSS STEEL TUBING 
DPICAL ROOF 
PURLIN ATTACHMENT 

2" X 3" TUBE SECURED TO LEGS 
1-3/4" x 2-3/4" x 611 WELDEDINSERT HHS STEEL TUBING

� 5' 0' �� 
I� 3• 4" +1- ,I ABOVE DOOR W/ 2" X 2" ANGLE FASTENED TO LEGS W/121 #12-14 X 3/4" SELF DRILLING SCREWS PER FACE 2' X 3" TUBE FOR LEGS SPACED 5' OC OR CLOSER (TYP) 2" X 3" TUBE SECURED TO LEGS ~Ĉě--1J-ì--DOOR FRAME ABOVE WINDOW W/ 2" X 2" ANGLE FASTENED TO LEGS W/121 #12-14 X 1-1/4' SELF DRILLING SCRE� PER FACE #12 X 2" SELF DRILLING SCR FLAT HEAD (TYP) FILL ALL MANF. PRE-DRILLED HOLES 

II r--ī-i- 2" X 3" TUBE SECURED TO HLDER AND BOTTOM RALING 
WI 2"X 2" ANGLE FNTENED TO LEGS W/(2) #12-14 X 3/4' SELF DRILLING SCREæS PER FACE 

FL9094-R5 FL239, l R-26 FLl 2940-R6 FL 9903.3-R4 
SUPPORT COLUMN 2" X 3" HSS STEEL ÞBING 

DPICAL BOXED 
�VE CONNECTION 

DESIGN VELOCITY ULTIMATE 140 MPH --í� 2" X 3' TUBE SECURED TO HEADER AND BOTTOM RALING 

WlND SPEED VS. LEG SPACING AND CLADDING TABLE 
4' ON CENTER 5' ON CENTER 29 GA. 29 GA. 

-- ---
�������' 

ê 2" X 2" ANGLE FASTENED TO LEGS W/121 #12-14 X l-l/4" SELF DRILLING SCREWS PER FACE BOÝOM RAL TO REMAIN CONC FOUNDATION 
6" AFTER WINDOW INSTALLATION METAL SIDING 

`NUFFßRER DESCRIPTION ELJXER PERÍNNEL \OR JANUS ROLL-UP DOOR A`RR ROLL-UP DOOR PGT IN^lES WIN]W 32" x 26" POCOHO±D WINDOW 30" x 30' Ēl-COUN� 29 Þ ULTÅ-RIB C/M PCEL METK 

WELDING TABLE

/ IF \q l� 
I FlllET I 

/ 11:� 
1�	EI 8 

I / I I 118 i 1 ó 

CENTRAL FLORIDA 
STEEL BUILDINGS 

140 MPH BUILDING TYPE 
BUILDING DIMENSIONS 
LOUTION 

GtNtRAl NOTE� l. ALL CONCRETE WORK SHALL BE 3,000 P.S.I. AT 28 DAYS.
2. MINIMUM SOIL BEARING SHALL BE ASSUMED AT 2,000 P.S.F.3. ALL CONSmUCTK)N SHALL BE PROVIDED IN ACCORHNCEWlTH TºE 2020 7TH EDITION F�. BLI. CODE AND ASCE 7-10TºESE PLANS INCLUDE DESIGN FOR ALL WIND 4. 5 
6 7. 8. 
9. 

10. 

ALL SIDING AND ROOFING TO MINIMUM OF 29 GAUGE ATTACHED TO THE COLUMNS AS SHOWN AND CONSIDERED TO BE A MIN. OF 3 SPAN. FOR ZONE LOCATIONS SEE FBC FIGURE l 609[c). THE COMPONENTS AND CLADDING LOADING CHARTS THIS SHEET. DESIGN LOADINGS: DEAD LOAD � 4 PSF ROOF LŀE LOAD � 20 PSF DOOR AND WINDOW DATA: PER TABLE ALL WlNDO�AND MAN DOORS ¼Y USE #l 2-14Xl-l/4" LONG SELF DRILLING SCRE� IN LIEU OF THE WOOD SCRE� WHEN CONNECTING THE UNITS TO METAL FRAME. FOLLOW THE _NUFACTURERS SPECIFIFTIONS FOR LOFTING CONNECTORS. TYPE OF CONSTRUCTION lYPE 11-B BUILDING CATEGORY �k CORNER BRACES REQUIRED ONLY QUIRED WØH WIND SPEEDS GREATER THAN OR EQUAL TO 140 MPH OR AS CALLED OUT ON PLANS. 

� 

� 
0: w 

 

• 

� z -z z 
� 
_J 

 

• 

CJ z 
0: w w z -
CJ z w 

UNIVERSAL FASTENING SCHEDULE SIDING
PANELS ACROSS SUPPORT COLUMNS L9DING EDGE FASTENING PA�ERN BOTTOM RAL TO REMAN OR ¼Y BE CUT OUT PER CUSTOMER REQUEST AND "J" CHANNEL WlLL BE ADDED TO MJE WEATHER TIGHT ''X. -2 3 RECTANGU�R TUBING OVER INSERT FAG� WELDED ,- ROOF ( 29 GA.) OPTIONAL SIDING [TYP) 2' x 3" SUPPORT COLUMN 

5' 0' O.C. Mt [TYP.) 1/2'' x 4" THOUGH BOLT, NUT, AND W HER NSEMBLY [nP) 2" x 3" SUPPORT COLU N 5' 0"0 C. Mt (TYP.) OPTIONAL SIDING [nP) 
N� NOTES: l. ALL HAT CHANNEL SHALL BE A MIN. OF lB GA.2. ALL STRLCTURAL TUBING S~ALL BE A MIN,OF 14 GA. 3. ALL UNrJERäL STEEL SHALL BE A MIN. OF29 GA SmUCTURAL STEEL PANELS AND HAVE

DESCRIPTION wIMUM UPLIFT DESIGN PRESSURE FNTENER PATTERN SUPPORT SPACING 
Nē FIELD ZONE l ZONE 2 34.3 37.7 9"-9'-9"-9'' 48"0.C. NATURAL GROUND dISTING PAVEMENT A YEILD SmENGTH OF 80 YI OR ANOTHER FBC APPROVED PANEL. *DESIGN PRES&JRE BASED ON A äFTEV FACTOR OF 2*

FLORIDA APPROVED l /2" X 30' AUG,R ANCHOR FASTEN WITHIN 12" OF SU T COLUMNS. MIN 24" EMBEDMENT 
NO FOUNDATION/BARE GROUND2" X3" X l 4 GA lSE RAIL W/ l /2" x 5-1 /2' WEDGE ANCHOR(l) WlTHIN 12' OF EACH COLUMN

CUT AND CORE EXISTING ASPHALT AND BASE TO UNDISTURBED EARTH SECTION SEOJRED ìTH He HEH SCRc, #12-14 X 1-1/4' SELF DRILLING & TMPING FOR ALL FÆING. 
1 2" X 2" X 20GA STEEL ANGLE Ġ 

' 

w 0 
� w 
�� ĝ 

FNTENED TO 2" X 3" ÚE RAIL W/ \21 #12-14 X 1-1/4" SOS OR WELDEDTO NSIDE FACE 
MIN. 4' THICK S�B i EXISTING SĭB ¼Y BE USED ONLY WHEN � SLAB IS IN äTISFACTORY CONDITION; NO CRACY� /FISSURES, \MINI_L SLOPE/UNDULATIONS, i SLAB MUST ACT N A SINGLE SUPPORTING UNIT. FOUNDATION CONTRACTOR TO PROVIDE FOR MIMUMUM SLOPE OF 6" IN FIRST l (J AWAY FROM FOUNDATK)N(SECTION R401.3 FBC6-20l 7) 

FOUNDATION AND ANCHORING 

"' 
� 

EXISTING CONCRET8DIRECT ANCHORING
I¡ 

-i -- ,,. _ _
 

REAR OF LOUVER COVERED W/ WIRE MESH BUG SCREEN FNTEN Will) #12-14 X 1-1/4" SDS PER CORNER (TYP) CODE REQUIREMENT l IN' PER Ff OF ENCLOSED BUILDING TOTAL ENCLOSED BUILDING = 600 Ff EQUŁALENT FLOOD OPENING � 192 IN' EACH [25% REDUCTION DUE TO FINS) - 144 IN'EACHTOTAL PROVIDED (5)� 720 IN' 
FLOOD OPENING DETAIL (ONLY USED WHEN
FINISH FLOOR IS BELOW BFE) 

lSE RAL 
ALL SIDE FRAMES 2'x3", 14 GAUGE PERFORMED STEEL 

2"x3"x20' LONG, (EXPANHBLE AT 4' INCREMENTS) l 4 GA. STEEL WlTX 1-3/4" X 2-3/4' X 6" RALL STANCHIONS WELDED AT 5' O.C. Mt.

40' (M�.) x UNLIMITED (M�.) MODEL 
[

LL FRAMING SHALL BE 2"x3" RECTANGUZR TUBING! NOTE: WHEN OVER 26' IN WIDTH USE COLLAR TIE DE AIL
R TRUSS DESIGN S�E) 

18 Þ. R¹F PUÇIN lĩP I 

LEADING EDGE ZONE 3 52.8 
6"-3'-6"-311-611 48" 0.C. 

ROOF muss CONT, FGOÊ éLDED INSERT IN MIDDLE SEC×ON OR SHOP BENT 

DOOR INSTAL�TION DETAIL­ 

¸ ROOF PITCH VARIES .,- 2/1 2 TO 4/1 2 
1 ñLINS EVERY 60' w. ROOF AND SIDES 

WINDOW INSTAL�TION DETAIL® 
w-

P�� L 

SIDE PURLINS ONLY USED WHEN SIDING IS VERTICAllY INSTALLED SITE SPECIFIC DESIGN P�N II<-----� 2'�3" 14 GA VERT COLUMN SPACED EVENLY NTS (NOTE: SEE SECTION A-A FOR ANCHORING DETAILS)

12" INSERT 2.75" X 1.75" INTO END OF BUILDING FRAMING FASTEN W/ (21 #12-14 X 1-1/4" SDS (21 ON BUILDING SIDE (2) ON LEAN TO SIDE OPTION LEAN TO � 20'-0' w SPAN 

INSTALL OVER l.75"X 2.75"X 6" l 4GA GALV TUBINGPOST SLEEVEGRCUND ANCHOR TYPICAL 15' O.C. Mt.I ONLY IF REQUIREDUSED ON NON- CONC FOOTINGS) 
29 GA. STEEL ROOF PURLIN SCRE� #12-14 X 1-1/4" AT 9" O.C. (TYP.) COLUMN SCREWS 12-14 X 1-1 /4" SELF DRILLING SCRE� 18 GA HAT CHANNEL ROOF PURLIN 

18 GA. GALVANIZED 2" X 2" FASTENED TO 2" X 3" ROOF RAFTER w/ SIMPSON smoNGTIE TP-15 AND 
(6) #12-14 X 1-1/4" SDS 2' x2" 14 GAUAGE COL�R TIE REQUIRED FOR SPANS GREATER THAN 26' P�CED l /3 DOWN FROM PEAK i i H 

� 
g "•

I lđ--ġRI¤.1--ê 
COL�R TIE DETAIL AND POST BsCING DETAILNTS NOTE: SEE SECTION A-A FOR ANCHORING DETAILS 

Ĥ- è é ã � -î - - s 

\ - 5' O.C. (w.) [TYP)
OPTIONAL GARAGE DOOR FRONT OR lCK 

I 
I 40 
�.) 

FRONT ELEVATIONNTS 

NOTE: 

TO HEADER 
2" X 3" X l 4GA STEEL TUBING 

II COLUMN LEG FROM , lSE RAIL TO HEADER FNTEN INTO FACTOÉ WELDED INSERT ON BOTTOM OF HEADER 
' 

\,� " " 
' . 

� II I 
I �� !§ FACTORY 3X3 muss HEADER �z wO �" 

�� oz Zw 
�� � 0 8'-16' [VARIE�I OPTIONAL GARAGE D00 

. 
I � II 

I' � FASTEN HEADER TO COLUMN LEGS 
WI f�l 2-14 X 1-1/4" SELF DRILLINGSC E PER SIDE (TYP) 

� 5'-0' (aX.I--+- 5'-0' (¥I--+- 5'-0" (á.)+- 5'-0' IMAX.I-+- 5'-0' (aX.)+- 5'-0" (á.)+- 5'-0' Iá I � >-�- - - - - - - - - - - -- - -UNLIM�ED£X- -- - - - - - - - - - - - --_Ā---â 
SIDE ELEVATION W/OPTIONAL GARAGE DOOR 
N� 
NOTE SEE SECTION A-A FOR ANCHORING DETAILS 
(NOTE: All FRAMING SHALL BE 2'x3' RECTANGUCR TUBINGI 

� ROOF (29Þ]
OPTIONAL WlNDOW -48" MtIMUM SINGLE, 

�� 
AWNING, SLIDER, FRONT, lCK OR EITHER SIDE 

� SIDING SECURED BY #12-14-1/4' SELF DRILLING SCREWS ' AT 9' O.C. AT EACH FRAME. t 6'-0' I�)å5'-0' IMAX.I æ 6'-0' ibI ço•-0' Ib,1-UNLIMITED (¢X.) ... SIDING ¼Y BE FNTENED WlTº SEAMS IN EITHER VERTICAL OR HORIZONqL DIRECTION*** 

- -

0 

\ 
\ I 

I 

� � H 
lÕ OPTIO¯L DOOR 38''x80' OR 48''x80" FRONT, BACK OR EITHER SIDE 

SIDE ELE�TION NTS !SUPPORT WlTX SIDING)NOTE: SEE SECTION A-A FOR ANCHORING DETAILS (NOTE: ALL FRAMING SHALL BE 2'>3" RECTANGULAR TUBING) 
IF THIS ITEM HAS BEEN DIGI)LLY SIGNED AND SEALED BY 
MICHAEL J. WOJTUNlAK, P,E, 

PRINTED COPIES OF THIS DOCUMENT ARE NOT CONSIDERED 
SIGNED AND SEALED AND THE SIGNATURE MUST BE VERIFIED 
ON ANY ELECTRONIC COPIES. UNLESS THE RAISED SEAL HAS 
BEEN UTILIZED. 

DESIGN S*TEMENT: 
THESE P[NS WERE DESIGNED FOLLOWING THE 2020 7TH EDITION 
FLORIDA BUILDING CODE AND ASCE 7-10.INCLUDING CHAPTER 16 ON
STRUCTUtL DESIGN, AN ULTI_TE WIND SPEED OF 140 MPH, 
(3 SECOND GUST) IN WIND EXPOSURE CATEGORY "B". THIS STRUCTURE 

(NOTE: ALL FRAMING SHALL BE 2''X3' RECTANGULAR TUBING] {SUPPORT WITH SIDING) NOTE: SEE SECTION A-A FOR ANCHORING DETAILS HAS BEEN DESIGNED AS RISK CATEGORY II. THE COMPONENTS AND C\DDING
WERE DESIGNED BASED ON A WIND PRESSURE. THIS STRUCTURE HAS BEEN 
DESIGNED AS EITHER AN OPEN/ENCLOSED OR PART�LLY ENCLOSED STRUCTURE
AS PER NOTED. (NOTE: ALL FRAMING SHALL BE 2'x3" RECqNGU�R TUBING) 

12/30/2020 12:49:53 PM M:�ent rol Florido Sfeel\�qn\Meto!P rototype0l!Revised 12-30-20!.dqn 

� 

i� ą 
• • 0 

� 
0 
	 � s: 
�� 

ENGINEERED PERMITS, INC 
311 SOUTH WOODLAND BIVD SUITE A DE�ND, FL32720 PHONE: 3B6-Ē FAX: 386-734-8226 CERT NO, 262Ĕ EMAIL: epi@epieng.net 

î w =w � W 
 en = �� <Ĉ '®= 
�� �o 

�~ �� ==
o- �=îo =�� ~ �Ě =�î ę o�< X &�� «�W u �� ċ� u ~ 

� ß
u ß
w ß]
0 ]� en

SHEET NO.

A-1
DATE: 12/30/2020 

Enclosed

36x45x16

677 SW Infinity Place 
Lake City, FL 32024

36

45

1/14/2021

Michael J 

Wojtuniak
Digitally signed by Michael J 

Wojtuniak 

DN: c=US, o=Unaffiliated, 

ou=A01410C0000016B412E1DEF0

0001CE7, cn=Michael J Wojtuniak 

Date: 2021.01.14 07:52:44 -05'00'

lvidal
Void

lvidal
Void

lvidal
Void

lvidal
Void

lvidal
Void

lvidal
Void

lvidal
Void

Mike
New Stamp


